® 13



op

o] AlE

©
=

© v o

©® -9



— (=V8) = (~VB)" = V(-2)%, B= V&= (=2)" + /(=5) x

2
) o W, AB 9| gk& F51H?

e
o

@® -60 @ -48 ® 10 @ 48 ® 60



4.

O<a<1¥9d, Va2 -

D1
@ 2a-1



5.

S 4 79 4= A,B,C,D 7} B4} H
(ab.c.d) €] GO hE SHE Betet.

L4 %

£

A}
4

A<l

A= +V10+a
B= V13 +2b

C=V3Zx2x5xc
D= /Tx(d+1)

B
:

2~
T



6. Vod-x 7P ARSI He FY A x o] wee] E2?

@ 60 @ 116 ® 155 @ 197 ® 238



D 1-3
@ -5-+3

@ 5-3v3
® 5-143

@0



8.

o3 27]9] &= FoA &80k Y FeaST) He A S8kt
H7]
4
@ -V1 © 3.14 © \G
® -5 @ +0.16




~~ N~~~

—_ - L L

~ N~~~

—_ = L L

~— ~— ~— ~ ~—



10. o3 1Rl o] 24 flof g ¥ 9] Ho]7t 1 Q1 AR ABCD
o] tjZ-4d AC = AP, BD = BQ 2! F & P,QE 724 floll &%=
H, P(a), Q(b) ol Hist th= 5 &= 227

D C
// \\
/ \
1 \
1 \
Yy A B v
Q(b) 2 3 Pl
H7]
Pa) =2+ V2 O Q(b)=3-2V2
® AB=2V2

0.6 206 0006 ®o6 060



11. & Al % a, b, ¢ o WA H WS sfofet,

a=2V3-1,b=3vV2-1,c=9-343




12.

oFe S A Ao 32 - 5 o Thesks He




e
<t
X
2|&
X
—

-211

13.

@ -8

® -10



14.

V72 =a V2, V300 = b V3

@ -2 @ -4

o]
=

o, a—b 9 7Le?

® 4 @ 6



29

a+ b2 %k

&

e}, o] ul, A5 a, b9

@ 6 ® 8 @ 11 ® 16

D 5



16. V2=a, V3=0d , Vb4 5 a, b ol T A 02 e 2127

- 11—

D a+b @ a+b3 ® a?p?
@ ab® ® b



6V3 20

—= = -—— = A V-ab °] 3-2?
17. 5 ave6 , Ve bV5 A o, V-ab 9 %
@ ? @ V2 ® 2 @ 242 ® 442



18.

=07 4v6em , F1 7} 32V6rem?® 91 ¥7]50] k. 97159
W o] Hkz| =& L5lofat,

a = cm



19.

Al
A

=

tlo
tlo

Fs] stde wl, At A3t =7

oo

‘-WL
ru
ot

® 2V3-3V3-3V5+5v5 @ 4V3+ V5-5V3+ 5
® V3+3V5-V5-2v3 @ V5+ 5+ V3-243
® 3V5- V5+3V3+23



20.

a= V2, b= V34,

® 6ab

@ 3a+2b

3V18

T VA E g, b E YUEYEH?
V3

@ 5ab ® 2a+2b

® 3a-+3b



zgzgomb: V3, c= V5L, (a-b)(c+d) o Fe
Fotodet (Ha>0,d>0)

D
=%

21.

SR



i

]
Nfo

ojn

g
l_l2
@73 Il
Il _W
~[270 2
& ©
S 9
T
2l | I
2: _m _W
27_%1 A
O ® ©



23. V2= 1414 9 W, V55 o g 25 A Zelol Al uhestelet,

D L
=¥



24. 339 25 HiEZa AT FESp A T W, a-b 9 27

@ V3-5 @ 3vV3-5 ® V3-9
@ 3v3-9 ® 3v3-10



25. xX*4ax-12=(x+b)(x+4), > -5x-c= (x+3)(x+d) & i,
a+b+c+de=? (a, b, c, d =45F)

® -12 @ 14 ® 20 @ -28 ® -34



x?—y?—x+5y—-a”}

s

26.

shelat.

27

.

ul



O|ZH4 x* + Ax + B

27.

@ (x+1)(x+6) ® (x-2)(x-6)

D (x+2)(x+6)
@ (x-1)(x-6)

® (x+3)(x+4)



28. Th T3 2 AeteEe] Yol7h o2 1 5x+2 & ), o] Abrelzo]

=o|=?
r—3
Sap47--7
DO x+2 @ x-2 ® 2x+1

@ x-1 ® x+1






30.

x? —4y? +6x+ 9 & 4ol

Fotofet.

D
=%



31. 592118 —59 + 60 9] #HS FL5toizt.

5
=%



. X =

>

g
V5 +2

Ct-
=B

o, (x - 1)+ 6(x— 1) + 5 o] g-& Fotefeh



33. f(x) =4x+2, g(x) = 6x*-bx—4 °]L,

o, 2ab 2| F27

@ -6 @ -2 @1



